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15.10.2022 feefrar aredt

“Tarda” <hl HUTE foreen g fored 8 off 7
fersoy st

The tales of “The Panchatantra” was written by :
Vishnu Sharma

T g ARAT § 791 U1 39eH % feam o |
R —<5h -~ g
In , Gautam Buddha delivered his first sermon at Sarnath.

Dhamma-chakra-pravartana Mudra

fr=ferfiga 7 9 forg wmee & el =i gfam 9 2
HHTH

Which of the following ruler’s court poet was Harishena ?
Samudragupta

“Srfsren” 0T & TRTH STet TTe ITTeh oh1 ATH [oTRaT |
CRUEE]

Write the name of Mughal ruler who reimposed “Jaziya”.
Aurangzeb

Trforftaa o @ formr SIS gRT 3 Fob TTT Ter@ Hewarqul ATET H | Ush HHT ST 8 ?
RE]

Which of the following is considered as one of the most important contribution that was
introduced by British ?

Railways

2 MASTER




6. Trfetiaa & @ A @1 1857 o fagrg 1 aitoms o ?
T 3T it 1 wifcrat i Toifest shIsA H gearaid o e |
Which among the following was the consequence of the 1857 revolt ?
Transferred the powers of the East India Company to the British Crown.

7. 1930 ® Hgrent Mef gRI “|fom = 31a HiGie” I[E S T HRT AT :
T S Tre o foTe gl AT |

The reason of launching the “Civil Disobedience Movement” by Mahatma Gandhi in 1930
was :

Dandi March to break the Salt Laws.

8. Tr=fcifiga & @ =1 wds Yra =1 Y8 YR TaH-S1aT o ?
Y. e

Which of the following was free India’s first Indian Governor-General ?
C. Rajagopalachari

9. Ty=ferfiga o 9 form srferfaem gro st =51 e 9 s1em fepam mam e ¢

TRd TR ff=m, 1935

Burma was separated from India by which of the following Act ?
Government of India Act, 1935

10. 9 i forfest =1 & 4k o6t o fofu, TR TR 891 (INA) &1 7184 foha foar 7
ATy =g 91
Who raised the Indian National Army (INA), to free India from British control ?
Subhas Chandra Bose

11.  T=fciRad o & 1 g 1 gad 981 37q T I e 2 7
HferE |TR

Which of the following is the Earth’s largest inland body of water ?
Caspian Sea
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12.

AT 1§ = ghg B Sl § R HS il ooh AMaR S el 8 | s amgg w1
HE AR |
TERIC (HeT)

The normal rainfall increases suddenly and continues constantly for several days is known
as the of the monsoon.

Burst

13.

Hm A (GMT) FT P ETFRR 7
tafer fiw ergm

What is the full form of GMT ?
Greenwich Mean Time

14.

et 1,000 & o€ Sfifera st Y anfiep S o1 form @ 4 TS @ 2
%S (3TMea) 1

By what name is the annual number of live births per 1,000 people called ?
Crude birth rate

15.

G o STl W o =feifed 8 8 forg o A e SIid @ 7
HET Te

Teak forests are found in which of the following states of India ?
Madhya Pradesh

16.

ST T o JfaH IuTeae 9 |
At Hicw T4z SrecETer
was the last deputy chairman of the Planning Commission.
Shri Montek Singh Ahluwalia

17.

fr=ferfiga 3 @ % 91 89 Wia 1 g9 s R B 7
Trafies &

Which of the following sector is the largest employer of India ?
Primary sector
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18.

Fraforfaa o & fora T 61 g shifer o foTe Wi B 3Ty et & g TR o ?
EEIC]

Which among the following states was chosen as the Initiation site in India for Green
Revolution ?

Punjab

19.

1969 i Tohat i@ it sfehi w1 Tgterehtor foha T o ?
T 9 &8 TR

How many leading private banks were nationalised in 1969 ?
None of these

20.

1991 < 37T G} o &1¢ TN ToRIY &9 § FrEISI-eh &7 o o7 STRIEA & |
THIY] Sl SATEA

Industries were reserved exclusively for the public sector after the economic
reforms of 1991.

Atomic energy generation

21.

fforfiaa # @ & a1 3rq=se “srcaaeehi o fadi s Eem” &% g ?
TR 29

Which among the following Atrticles is for “Protection of Interests of Minorities™ ?
Article 29

22.

429 GINYA S HIEAH § HiGe™ § 9 d1 721 DPSP (T Hifa & e fagra) et mn ?
THH = 3T :37eeh Torferen wrgmma |

Through the 42™¢ amendment, which of the new DPSP (Directive Principles of State Policy)
was added to the Constitution ?

Equal justice and free legal aid.

23.

ffeTigd o & 1 | Hifdls haea & ?
3 asft

Which among the following are Fundamental Duties ?
All of these
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24. 3TTVE 245 % AR THE HTHA 2 |
EACQIEEICI
As per Article 245 is the function of Parliament.
Law — making
25. TR AN Fefeiied | | fored Talia @ ?
The Sarkaria Commission is related to which of the following ?
Centre & State Relations
26. T TN HITHAMR |
LEETR
Light year is a measurement of
Stellar distances
27. Sfi A HEUH A @
The element common to all acids is
Hydrogen
28. A& WHT UM o o HMUa gd & |
THRAA
Non-stick cooking utensils are coated with
Teflon
29. fmafafaa @ 9+ ae0 gigam @A 2 2
et
Which of the following is the most intelligent mammal ?
Dolphins
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30.

dtert w1 ferehrer femerdl wwiferd graT @ 7
SehTRI ShI TUTE, HIEAT 3R 3@ty

Plant development is influenced by
quality, quantity and duration of light

31.

o 2,013 A3 ER g AR ¢

4511 13
Out of given fractions 971317 which one is largest ?
11
13

32.

(2.1} + (5.8) B
(2.1)2-2.1 x58+(5.8)%
7.9

33.

TS Tl §, 70% refi wifaehl § 3l gu 3T 80% rweff aehun § I<fivl gu | Afg 3 gl
forwari § 559 arvreff S<fivl gu, af g fawei ® fohe wicrra a1vreff srghivi 5w ?
In an exam, 70% candidates passed in physics and 80% candidates passed in reasoning. If
55% candidates passed in both these subjects, what percent of candidates failed in both
subjects ?

5%

34.

308, 125, 45, 120 3 102 &1 309 8

The average of 308, 125, 45, 120 and 102 is
140

3S.

J5-2

36.

“Teu’ o1 iy forese Fa g ?
g + 39

37.

“gfa- 3fa” 1 oE T WE 3
gy - foet
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38. Sy H forvam® TEH AT’ - 39 Yo THE o foTu Teh vreg STy |
&

39, ‘T wfacim s @
ST

40. ‘Tacctl =1 vget 8 T g =nfew’ =61 319 2 -
31 T W I & € o ST 1R |

Read the passage carefully and answer the corresponding questions : (Q. 41 and 42)

Valentine’s Day, February 14, is a holiday that celebrates love and friendship in the United States.
Most people think of it as a romantic day to show the one you love how much you care by purchasing
cards and gifts. Valentine’s Day is also an extremely commercial holiday. People spend money on flowers,
balloons, chocolates, stuffed animals and jewellery. People also go out for expensive dinners. Valentine’s
Day is even celebrated by school children, who give thank-you cards to their teachers. Some high schools
have Valentine’s Day dances. Classmates give each other little cards. These cards can be purchased at any
store with famous cartoon characters. It is considered much more thoughtful to have kids make handmade
cards to give to friends and teachers.

Valentine’s Day is also a great day to announce your love to someone like a secret crush.
Some people even get married on Valentine’s Day. However, you don’t have to be in love to
share in the festivities. You can say “Happy Valentine’s Day” to friends and co-workers.
Valentine’s Day is not an official holiday though in the U.S., meaning government offices and
schools are open as usual. The date used to be the celebration of a Saint named Valentine who
allegedly saved a young girl’s life. It wasn’t until the Middle Ages that romance somehow got
mixed in with the date and lovers would send each other handwritten love notes. Back then you
couldn’t just go to the store and buy a card the way you can now.

41. According to the passage, is Valentine’s Day officially a holiday ?
No

42. According to the passage, what do school children gift their teachers ?
Thank-you cards

b

43. Choose the correct synonym of : “tame’
Docile

44. Choose the correct antonym of : “rapid”
Tardy

02 8 MASTER




45.

Give one word substitute for the following :
“one who is indifferent to pleasure or pain”
Stoic

46.

S YT 1 TS I T B foh FeAfetiigd § 8 o @1 I foshed 39 1 Ui & e GeY 1
T endeyiarg |
YA :
L ety fmfor shufai 3 et €1 6 ueidi st shmdi § ghg Hi 2 |
[ TThR T BT & § AUl W Yoo SRR |
Y 11 HROT § 3 HY [ SHHTINE 2 |

Read both the statements and decide which of the following answer choice correctly depicts
the relationship between these two statements.
Statements:
I.  The Laptop manufacturing companies have recently increased the prices of Laptops.
II.  The Government recently increased the duty on Laptops.

Statement 11 is the cause and statement I is its effect.

47.

Tsh T <l 3T 3T L §L A 7 3794 <% B | g, “ag Bt 0f o fan it seheticl 9t 27 |
A, BT 11 a6 H fohH JehR Tefta 8 7

e

Pointing to a photograph A said to his friend B, “She is the only daughter of the father of
my mother.” How is A related to the person of photograph ?

Son

48.

frfarRaa wem o fou T foehedi # & 37ETd o1 w4 iR |
In the following question, select the odd one out from the given alternatives.
301

49.

1 SHedt, 2006 ! ER AT | 1 e, 2010 Sl THTE 1 19 @1 feT o ?

Yshd
It was Sunday on Jan. 1, 2006. What was the day of the week on Jan. 1, 2010 ?
Friday
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50. 3fc feret e w1 § ACTIVE 1 EDUJWA % &4 H ®ifed foham Srm 2, @ 39 Hie §
EFFECT %! & hifsd foham Smam ?
If in certain language ACTIVE is coded as EDUJWA, how is EFFECT coded in that code ?
TGGFDE
51. WA TG Tesh & 1 S 2022 § THR "fhe o feed o &9 7 wia 37 % g &l e
TerameRt T foka T o |
BRI
Bharat Gaurav tourist train was flagged off between India and , as part of
Ramayana Circuit in June 2022.
Nepal
52. WRA 3 gFI <IN o ST “HofeQ 37 dehlictes” TTRICRI < Mo & fofw ot @ wormdi & ded
fraferfiea o & fopm o1 61 75 Treid 37K 17 Thel 98 TR H & ?
EEIH
India gifted 75 ambulances and 17 school buses to which among the following countries as
part of its ongoing efforts to build on the “robust and longstanding” partnership between the
two countries ?
Nepal
53. S 2022 H, Rd A FMHEfiEd ®§ § 769 <01 o @19 SHiAAdey fSwmicsh TheHt T’ i
o 6T 7
..
In June, 2022, India announced the ‘Commonwealth Diplomatic Academy Programme’
with which among the following countries ?
UK
54. HUA 7 IAF o gefiehiet & foTt ADS @t 3Tfd ¥ Ueh St Shul 3T 3Teht

TR HU-1 oh T Th FHSIT [T T FEATER o |
W Seiergi (e ferfires
Company signed an MOU with a Belarusian Company and its subsidiary for the
supply of ADS for helicopters of the TAF.
Bharat Electronics Limited

02
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55. frefafaa o @ form R T 3 TR HITHT THA TH E AT IE IR 7
Temee wew
Which among the following Indian state has launched a new scheme named ‘Naari Ko
Naman’ ?
Himachal Pradesh
56. Trforitaa o & fopd TS9 TR A 5,000 €92 <6t “Sreft A’ A AT & I ?
HAleH
Which of the following State Government launched ¥ 5,000 ‘Kashi Yatra’ subsidy scheme ?
Karnataka
57. gEEEE Aig A | frefoiaa # @ forg et | f. dquiive Ty Rfeam § weh wRisA § 1,800
HUS TYY <! TSI T Iete IR = fopam 2
FRIOE
PM Narendra Modi inaugurated and laid the foundation stone of initiatives worth I 1,800
crores at an event at Dr. Sampurnanand Sports Stadium in which among the following
districts ?
Varanasi
58. foro Teem 3 Sfearst i it Ug wiewi shMT’ Sfives & ush fure S 6 7
Hifad smm
Which institution released a report titled ‘India’s Booming Gig and Platform Economy’ ?
NITI Aayog
59. Trafcifed o @ € TsT TR et Uf, et Ufieie’ o fomi T Ush US[ehyH ISR S
HI A SNE 8 ?
ELRe
Which of the following state government is planning to build an education township on the
idea of ‘Single Entry, Multiple Exit’ ?
Uttar Pradesh
60. BT TRIETRhT % fofe weh o fefieat wiewn ‘e ufer’ forg s g @ fopan o & 7

S #1381, 5

A new digital platform ‘Campus Power’ for student ecosystem has been launched by which
bank ?
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ICICI Bank

61.

T % foha T et o @1l T re id & ?
How many states of India share border with Bangladesh ?
5

62.

fraferfiea o & s g g g ?
Sulrd|

What among the following is the national currency of Poland ?
Zloty

63.

freafaftga & 9 H 91 YR 1 999 BIeT he AEd TS 8 7
SR

Which among the following is the smallest Union Territory of India ?
Lakshadweep

64.

frefafaa & @ foraes o o e T B W@ FE K ARBE 2
RA & UgAfa

Who among the following has the power to prorogue the Lok Sabha sessions ?
President of India

65.

“SFaUE SAfea feaq” Ffafaa o 9 forg feg s Sman g 2
2 FHEST

“International day of Non-Violence” is observed on which among the following day ?
2 October

66.

TR & —TTTHT T Hehe] (T TIM) WRA & HHfad § 8 forg Wi m fRa g 7
Hife (HA)

Tomb (the burial place) of Vasco-da-Gama is situated in which among the following place
of India ?

Kochi (Kerala)

02
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67. I TCIN HT Th ATHI TRT T 2 |
HeU

is a popular classical dance of Uttar Pradesh.
Kathak

68. “ymE ey f=fafed o @ frg @ d gafta g ¢
Sefifeq

“Thomas Cup” is related to which among the following games ?
Badminton

69. g gEah Tomg 3176 BRI fohdeh! STTHT 8 ?
. T fi. I 75 wam

The famous book —Wings of Fire’ is an autobiography of
Dr. A. P. J. Abdul Kalam

70. TS T 1 3T gl
3J gt

Expected result of Global warming is :
All of these

FrfcTRaa 3Tg=eg i TgH I® T T (. 71 8 75) & SWERT |

ITSThel U¢-ToT Tagaehi i fagelt Twepfa 3R Sfie STt 3TR Taifesh i = & 2 |
3o QoS HTaT-fire =1 ot @ B & fop 39eh) Hamw ferewit # wg SQ, =t i g@-a1 1 Tt
O B 37 AT T ITHT A1 1 &l | 3690 59 Terd off T8 8 | wRa ° 9bi g, Te 7, et 7,
TG B, YSTER &, T¢-IE & I faen 4 368 Hefen faudia sy 31ig & | |-9T9 % 319 Sl
SR < el -T& = oeell § 9g--9- 9l 3 & | [ H af #i-am, @ -gea-dl 99 I0g 310 &
W BT H o= a8l ohl el 3t agf il aumehid @ § 3ad -9 A 8 o - 9
vIfeR, T-Trafer, 3o IR it 3T wi-amd ol oft ol ord 2 | 98t oY H Ush-gl SR 39
TG AT SR - WA T 371 A 8H &7al & | 3R focefl 79 9 smét 81 St e & =1 7 $S
o BISH AT o A & BT & | 30 37 o=l ol a1 QY ¥t T B 3R 7 forgw WM aret arfnvmass
B sheTfd 3aq Qi) B | e 3 TEhI 3 & i St S B | difed & siaue % 9w i ane

MASTER 13 02




I @A I SIS AI-9T9 g1 -IR T b d™ o U TRt 3o &g aT9d LSl 31T JTd & FAiTh
3Toh AT Y T H TR FHA1 781 =1ed | Sl i Riehrd g fob #i-am9 3eh! gt 3R 5=
1Y TS el hid TR AU U THMH <l <l bl J-T ATIAT =18d @ | 39 TR o FG8R § o N
1Y HE Tg U ? 3T GRT WA ST 9Tt BT 3R gfeamanait <ht = o Hi-a foRet & T e | TR
B foTw T7u frofer ox ST €678 % X h 10 T84 aTet o g T4 o 1 3T IR i 37hat & SeTd sl
o fori o a7eRgl fiTati o Ty Toh-Th ik QM 3Tad: 38 g § foeT 81 9 2 |

71, 3TTehet Y- Torg Feaeh foey ol 91d & 7 Faifesh geiet deh i |1 eTT 8 ?
Hi—ST9 =1 AT YU T, G@-= hl T 6L ST AT TS § (81 §@H o ToT¢ STd
g

72. foow § S 99 S o FGER INEdH & 1T & Ot 7 7 3Tg<se S H | T@d §U Fai®
Y& qeh <l FHT |

I TR

73.  foew § S 99 = 6 WI-ST9 319 GRI WA S ATl i 3R gfYamaati i ==t foret & o
A 7
ST E41E @ 5= o foe |

74. S 6 Rreprrd B o Ai-aT0 gt 3R Sl o |1 TS A& hid 3T O GO SHH 1 <l
1 F&T YT =18 & | 6k fo7q HIH Hel H Q1 7
T et 1 ST |

75. ‘SH TR % HGER ¥ d AR H1Y hE § YT 2> T8 UH i § I8N shl 3R Hohd & oad
37h! M 378 3194 T T8 T Tt ?
o= % TRAR & Te&T (Teht 3 I a=1) & @HI-HgH, WH-IH, Ig41d 3R =rei-
T IR UGSt FR e Hid B |

fraferfaa 39<eg ! Tght I8 & W1 (J. 76 ¥ 80) & W ART |

IS Ui o forered giar 31 @1 7 | ufeR Hifid 3R 81 8 s @ & | dg-fore ufemi 4 uh
1 &= E B @ | A9 379 IUcTed THIEA! ¥ 9 AS-WR ¥ S ol 7! e feeramd & 3
ST o 1Y ST LA & | G- TH I AT 921 THM0T, G AT ATSAq ST BIHAT 376 TG Gl
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2 | 301 e T o sTas[g 3Tt Shl 78 it o s TeEsiicr 8id S @ & | 3R frereh et o 34
F® off %78 <, T T Ti-a19 A1 15 fwder $© off %8 <, a1 9 qa yfaframsia & I & | agomsfierd
THTH Bl 1 @I} 3N ST 9 =R, 991 B Y I 32 R | 3], IT-h THRU I UG-
ToR@eht A1l U1 SITd & AT 7T STH H9TA id & | Arar-Tuar FR-<R ¢ 81d SI1d @ | 39k gRI S99
IR T Tkl IF THI ek o AN 3TN SfeTgH 31 o 379+ sl g1 il feu S71d & | 37a8 Hi-am 9 377
yfthd & 3R I W g | 37 o §¢ Hi-am fseft fit & §¢ 7i-am9 6 gorn § 31frs e |
BId @ 7 | 3= & gRI NIfeta-difva =t 3¢ 379 IRER 1 Ted 19 ¥ TiehR e o @ 8 | J&
IR0 & Toh @ T T A1 WI-STT 3okl Tad @ 3T AT 30 & T H EH-EH 8 EIoht §=a1 o1 4g aTehd & |
difeal % ST | SiTe i § dsil § Seerd 8 W12 | 318! Wiad1 § Wi A ¢ A-9T I3%h T=
1 Ik INER & fIw § 3 deltg <d 8, a1 TRl JaTg 1 9 6l g | I8 aved: difedt &
A 1 IR 8 | 379 U ¢ T & 3TN SIHIYYT Tl ot 39 75 NS 1 STmavareharl Ta1 2 |
31U I AT 2 Top ATG 3 |1 AT & Al TSI Hleh =i, S-AUT JGIIH | gH-3H ANl o s T8
foamd | gg ot 99 9 @ 3R 3= oft S TR A I A T S | 1 Irad H 39 Heleh fore g it & gt
BATEHD T gl BT HI B ?

76. 3TN o SITI o 110 TGl THY 3hi ThiF H qait=d Hi7T & FTa8 o == | 3791 9T I Heh 7
o1l 9gTY < 7T $® M hieh T 3TN FTeit Figt % el o 7 gt s 3R A et
T A |

77. M 9 Gi-9T9 379 & T H SH-EF ¥ geht sl ol §g T8 aTehd @ ?
S HAT-fidT SEetd FHT % W 39 MY ! 96 od § AR Ig-sef HR Ioh TRAR
SAEHH I § |

78.  HIAT-TUA] R0 WR-GAR Td HHE] HEIGA o6 16T ST o STaS[g 371 31 a1 4Gt § 98 STedarn
TS 8, S qUH 4 deh ToremT ff | $Hert §e8 3fad o1 o1 &l ekl § ?
difel < ST o HRUT S qeat % Tqe & JaT fid SrgreRlt 3R e gt S
T 2 3R 30t TEURIeTaT 7 Bt MR 2 |

79. W H T 3T qTaT- AT Sl JEIHE H WS ¢ I 1A B @ 7
STl S R S Jrfereshl § 3R S 3o sfers =1 =€ 0@ uTd |
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80. T % |1 T hl 3281 BId U ¥t 3 HI-FTT o 37kl T 1 HRV D A1 8 ? T8 T dh
HATR ?
Hi-§T9 %1 G 3 396 TRAR o T F@1 TGN, A0 I IJEAH 3N Tg-9i hl
RS SEE T

Y. 4.81085:

9 2011 H 2015 o S are fSrent & gfcrnt wdien 3 Sufera, Sxivt 3R siHa Sefieam <t 5 & JAfehe
afetent 7 Sfeetftad @ | e arforent o1 31eaa o 3T 39 W 31 9941 o ST |

Q. Nos. 81to 85:

Data for Number of candidates appeared, qualified and selected in competitive examination from
five districts over the years 2011 to 2015 is mentioned in table. Study the following table and
answer the questions based on it.

&N A / District A| 9o B / District B | &1 C / District C

=i/ | Sufem ST | SEi utem I | St | setem| 39t | satE
Year| /App| /Qual| /Sel| /App| /Quall /Sel | /App|/Qual| /Sel
2011 8000 | 850 ( 94 | 7800| 810 g2 | 7500 720 78
2012 4800| 500 | 48 | 7500| 800 65 | 5600| 620 85
2013 7500 | 640 82 | 7400| 560 70 | 4800 400 48
2014 9500 | 850 | 90 | 8800 | 920 86 7000 | 650 70
20158 9000 | 80O 70 | 7200| 850 75 8500 | 950 80

fen D / District D| £ E /District E
=/ | IR I | <At a3 | =t
Year| /App | /Qual|l /Sel| /App|/Qual| /Sel
2011 8200| 680 | 85 | 6400| 700 | 75
2012| 6800| 600 | 70 | 7100| 650 | 75
2013| 6500| 525 | 65 | 5200| 350 | 55
2014| 7800| 720 | 84 | 6400| 540 | 60
2015| 5700| 485 | 60 | 4500| 600 | 75

81. Topw ot o forw fomma ot = Sufigar it sfted wen =Han 2
e E

For which district, the average number of candidates selected over the years is the minimum ?
District E
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82.

et D & Sfiot 3efieant w1 wfaera ffet D @ Jufeerd gH areti Hl g H frr av A s he 8 2

The percentage of candidates qualified from District D over those appeared from District D
is lowest in which year ?

2013

83.

¥ 2011 H, fora forer o Sufera safigart i ger & <=ifad Sefteart o1 St Tee 31fees o ?
e A

In the year 2011, which district had the highest percentage of candidates selected over the
candidates appeared ?

District A

84.

Tteeie STafy < SR feT E & wafa Seficar i 9 39 31ty & g e A 8 =9fa
IrieaTl <hl T BT AT feheT W 2 7
The number of candidates selected from District E during the period under review is
approximately what percent of the number of selected candidates from District A during this
period ?

88.54%

8s.

e ¢ @ gfia Iefigart 1 ufawa fen ¢ & Ifivl Sufiear 6t gorn 9 form o & geg
afereh 2 7

The percentage of candidates selected from District C over those qualified from District C is
highest in the year :

2012

T. E. 86 9 90 : TfcTehT b1 LI i 3N FfeARaa T 6 I E |
Q. Nos. 86 to 90 : Study the table and answer the following questions.

5 9T o R 5 HUfET RIS T IcTE) ohl ST

Number of products sold by 5 companies during 5 months
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. =+ / Company
wg=1/ Month P Q R S T

et/ January 130 80 155 85 75
=i/ February 155 110 | 88 110 90

wrsi/ March 180 130 | 115 | 100 | 120
sge/April 160 145 | 240 | 140 | 165
wg/May 140 120 | 130 | 100 | 165

86.

T S GRS 7T IedTe ShY AT § SHEd & 31t ek i feha wiferera <l afg g8 2
The number of products sold by company S approximately increased by what percent from
January to April ?

64.71%

87.

U T gRI O, 37T 3TN HE H oI U IcdTG) <hl ot TR H H, 329% HIges Wil § 94 91 | 7, 38
I TS § TR T G o 7T HT8e8 WA 3cdTq) ohi et Tl fehart ot 2

Out of the total number of products sold by company T in March, April and May together,
32% were made of mild steel. What was the total number of mild steel products sold by

store T in March, April and May together ?
144

88.

B | T P, S 3T T R S 1T 3cdTe) <hl 3Nd e fohat & 7 (3mnta)
What is the average number of products sold by company P, S and T in February ?
(Approximate)

118

89.

TS | 9 P 3R R g o T 3cTGT <hl el T BT ST T I shuf-RIf gRT sil 71T 3edTe] oh et
T ¥ 31U fehaT g ?
What is the ratio of the total number of products sold by company P and R in March to the

total number of products sold by the same company in April ?
59 : 80

90.

HUHA Q G SHadt 3R 73 H fcireht s 7T ITe] <h! ot H&AT 3T A9 HEHT | St R gRT
S T IATGH 1 et T oh S o 37 fehaT 8 7
What is the difference between the total number of products sold by company Q in January and

May together and the total number of products sold by company R in the same months together ?
85
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. 9. 919 95 : F&l fean i uiE =1 ueh foRy a o o forftre & o fafermmers % @ o el § |
=1 BT SIFYeIh 3T bt 3N 35h 1 few e srorti 36 e S | (@ft e et 3 fewme @ 1)

Q. Nos. 91 to 95 : The pie chart given here shows the spending of university on various sectors

during a particular year. Study the chart carefully and answer the questions given below it. (All
the values are given in degree.)

farem

Education

FTHATH
Research

91. BEEE TR FoA G I AT feha1 Tferera @< feram S 8 2

Approximately what percent of total spending is spent on Hostel ?

12.78%

92. HRISHHT hl T H ST T TN fehaa wfeera 3tferes @< fopam man 2 ¢

Approximately how much percent more is spent on Research than on Events ?
86%

93. fe oy < g fafire &=t W @ 6t 78 Hor U  1,80,00,000 B, AT SR LT T G ht
TS I BTATEE W @™ hi 718 N & fhat At & 7

If the total amount spent on various sectors during the year be I 1,80,00,000, then the amount
spent on Infrastructure exceeds on Hostel by :

32,00,000
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94. Wl W, e 6 g # Feha wicrd 0 @ feRa ST R ?

How much percent less is spent on Sports than on Education ?

35%

9s.

T.d. 969 100 ; FF=feriad @mga % (X@1 3m@) 2001 § 2006 6 376 s SR < hui-=i A 3T B
R AT TfeTd o1 TS a1 & | U <hl 3ieh 8 Ug 3T I o STR ¢ |

Q. Nos. 96 to 100 : The following line graph gives the percentage profit earned by two companies
A and B during the period 2001 to 2006. Read the graph properly and answer the questions.

Ife o & SF Well W @ i T8 et TR 2 1.8 e o, af frenn 3t argae™ W et @« 6t
TS T oft

If the total amount spent on Sports during the year was ¥ 1.8 crores, the amount spent on
Education and Research together was :

3 72,50,000

fom o =i & 91 sFufEi A den B g sifsta witvem e
Percentage profit earned by two companies A
and B over given years
60 60
43 3% = 50
50
40 45 45
30

(I}

(=}

% / Profit %
(3% N N o
oS o

2001 2002 2003 2004 2005 2006
a9 / Years —B A

96.

2005 T 1 UM A 3T B sl 31 ShAS: 3 : 4 % A | ot | 2005 H 3T I I HA:
ST T AT ?

The income of two companies A and B in 2005 were in the ratio of 3 : 4 respectively. What
was the respective ratio of their expenditures in 2005 ?

45: 68

97.

Ffe 2002 T YA B &1 =77 T 200 HUS AT, a1 2002 T 377 <=7 off ?
T 260 HUS
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If the expenditure of company B in 2002 was I 200 crores, what was the income in 2002 ?
T 260 crores

98. Ife 2001 T U A 3R B T 5= THH AT 3R 2001 § AT HUfE 6 ot A T 342 FS
oft, A 2001 T g1 Ul w1 et AT febe o7 ?
(A9 = T - =49)
T102 S

If the expenditures of company A and B in 2001 were equal and the total income of the two
companies in 2001 was T 342 crores, what was the total profit of the two companies together in
2001 ?

(Profit = Income - Expenditure)
T 102 crores

99. 99 2003 H HUHT A I T T 200 HUS AT 3N 2003 H HUA A hl 37T 2006 § I @ &
gaE oY | 2006 § HUHT A I 31 = ot ?
T 464 HUS

The expenditure of company A in the year 2003 was ¥ 200 crores and the income of
company A in 2003 was the same as its expenditure in 2006. The income of company A in
2006 was :

T 464 crores

100. Ifg 2005 = g1 Huf=N <t 317 9 off, A1 2005 T HUH A & ST 1 U B & I U I
T YT ¢

If the incomes of two companies were equal in 2005, then what was the ratio of expenditure
of company A to that of company B in 2005 ?
15:17
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